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The following table presents the number of sports shoes produced by seven different companies A-
G (in lakh) along with the percentage (%) of sports shoes rejected and percentage (%) of sports
shoes sold by these companies during the years 2022 and 2023. Based on the data in the table,
answer the questions that follow.

Company-wise details of sports shoes

Year 2022 Year 2023
Company | Number |Rejected| Sold | Number | Rejected | Sold

(n lakh) (%) (%) |(inlakh)| (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 2 76
5 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 31 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330728089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the production of sports shoes by company C from the year 2022 to
2023 ?

(1) 15375 %
(2) 20.625 %
(3) 15625 %
(4) 10.625 %
Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330728090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the sale of sports shoes by company F from the year 2022 to 2023 ?
(1) 12 %

(2) 25 %

(3) 15 %

(4) 20 %

Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 5330728091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the total number of rejected sports shoes from all the companies together in year 2022 ?
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330728092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Total number of sports shoes sold by all companies in year 2023 is approximately % of
the total number of sports shoes produced by all the companies in that year.
(1) 84

(2) 79

(3) 72

4) 75

Options :

1.1

2.2

3.3

4.4

Question Number : S Question Id : 5330728093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Percentage rise in the production of sports shoes from the year 2022 to 2023 is more than 25 % for
exactlly _ companies.

e,
2)
()
4)
Options :
1.1

2.2

3.3

4.4

Ul o= W R

Question Id : 5330728088 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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e arferert # | =1 ufi (A-G) gR1 = 2022 9 99 2023 § Seifed @l & Sl 1 S (A W),
LR W & Sl o1 favra i Safal R o T Ee 3 Sl o 9fae (%) fomn man g1 aifes § uew e
% SR W, AN F WA F I Sl |

e & el R shuAT-are faeror
ay 2022 aef 2023
P FE=T |ardled| Rt | I |ardleal (it

(Fra#A)|[ (%) (%) (=) | (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 3 76
¢ 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330728089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUA C g ad 2022 ¥ 2023 H Ierfed @a % S W ufowd afg fead &2
(1) 15375 %
(2) 20625 %
(3) 15.625 %
(4) 10625 %
Options :
1.1
2.2

3.3
4.4

Question Number : 2 Question Id : 5330728090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FU F g o9 2022 ¥ 2023 B o9 T WA F 5l § foFer wfove Ifg g ®7?
1 12%

(2 25%

(B) 15 %
(@4) 20 %
Options :
1.1

2.2

3.3
4.4

Question Number : 3 Question Id : 5330728091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ad 2022 # 9t Fufai T T STeeiFa Be F Sal B o e fhal § 72
(1) 835000

(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330728092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

guft Fufal grn ad 2023 # faskt fFre U B@ F 6 F T g 35 g9 § 9 wufral g senfea

oA F el 1 FHe WS FHI TR % B
(1) 84
2 79
(@) 72
(4) 75
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330728093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 2022 | 2023 H A F 9di o 3 ¥ g8 ulave gig StF-Si FYfTdi o e 25 % 9
e 2
1 2
(2 3
@) 4
(4) 3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072321
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330728094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To teach a particular topic a teacher first gives the students to watch the pre-recorded video of the
lecture at home and then engages the students in discussions and pmblem solving achvities in the
class. This is an example of :

(1) Lecture-demonstration
(2) Flipped classroom
(3) Asynchronous learning
(4) Synchronous learning
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 5330728094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forere wa fafore fawg & oo & fom faenfe=i = samem ged gd # fere fFu o sifed ea | w
o o fore 3 ® 3 3Hek ag e | Feiel au Sue- g iatatdl § Sifod s 1 98 fege
e IR0 & ?

(1) =rEA freeE

(2) el e (fHeTe Fae ®H)

(3) THEHICTE AfRTH

(4) HEFIfCTh e

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330728095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component of Baddeley’s basic working memory model is involved in the task of Rapid
repetition of the word like “See-Saw” ?
(1) Visuospatial sketchpad

(2) Bounded rationality

(3) Phonological loop

(4) Meta-cognition

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330728095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-1 (See-Saw) ST Feg T asil § TG o F14 H Sl F SNURYT FEAWF Wi qiee F1 HHE
Hees ofae &7
(1) Tagsidifyae et
(2) YEs Figarea
(3) w@HmF oM
(4) AT (HEEHRTAYA )
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 5330728096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants his students to watch pre-recorded videos and answer questions embedded in the
videos. Which tool would be most suitable for this purpose ?

(1) Edpuzzle
(2) Evernote

(3) Google Docs
(4) Strawpoll
Options :

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 5330728096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ue T =medn © T suer faened gd # et foru o difed o1 3@ @i sifedl # wf=fea wei & s <
39 WA % T S ST (26) Halfeen 399 8 ?

(1) TEUSA

2 TR

(3) T ST

(4) I

-

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 5330728097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - 11
(Swayamprabha Channel No.) (Name)
(A) Channel : 04 (I) Kautilya
(B) Channel : 05 (I Vidhik
(C) Channel : 06 (Il) Prabandhan
(D) Channel : 07 (IV) Saaraswat

Choose the correct answer from the options given below :
(1) (A)-(L), (B)-(1I), (C)-(IV), (D)-()

(2 (A)-(IV), (B)-(III), (C)-(II), (D)-(T)

(3)  (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

4 (A)-(1I), (B)-(IV), (O)-(I), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 5330728097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hel-1 9 gHi-11 =1 fers wifs
Hel-1 -1
( TETWT B HWEAT) (7))
(A) = : 04 () ifeea
(B) oA : 05 () Tafues
(C) = : 06 (III) TaeA
(D) =7 : 07 (IV) IR

= feu T fomredi H @ W@ I =9 HIfN
(1) (A, (B)1D), (©)-IV), (D)-(I)
(2)  (AIV), (B)~(LIL), (C)-(LD), (D)-(I)
(3)  (AD, (B)-1D), (C)-(Im), (D)-(IV)
(@) (A1, B)-1V), (O)-1), (D))
Options :
1.1
2.2

3.3
4.4

Question Number : 10 Question Id : 5330728098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/123
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An instructor uses portfolio assessments in an art class. What key components should be included
in the students’ portfolios ?

(A) Collection of completed art works

(B) Reflective essays on their creative process
(C) Standardized test scores

(D) Peer feedback and critiques

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (A)and (C) Only

(4) (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 5330728098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST el &1 oherl H dSwiferd geais 1 wga o &1 faenfef & aieferi # fr ger gew
1 wfewfera fan ST Ay 2

(A) YUl FHeTRiaAl 1 GUE

(B) SeR! HorTcHe Wiehdl W fHamefial faiy
(C) WA qL401 ek

(D) TEReft ot gfagfie sit Enme=Ad

= feu o faspedi § 9 WaE W F =TI FIAC
(1) o (B) 3T (C)

(2) % (A), (B) #R (D)

(3) I (A) ¥R (O)

(4) A4 (C) ¥ (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330728099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on Plagiarism, which of the following percentages of similarity
in a research article would result in debarring a university teacher from supervising a PhD. Student
for a period of two years ?

1 27%
(2) 38 %
() 44 %
(4) 65 %
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 5330728099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wifeferss = o o) #9579, faf=ae 2018 o @R fofdl oy g § gamd & fora wfasrd o o
< 99 =i @ty o forg f.w= S, foeneft & vdasmo & favafasmera & fes =i Sfaa fear smam ?

(1) 27 gfqerd
(2) 38 wfqerd
(3) 44 gfaer
(4) 65 gfaemE

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330728100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful in showing
association between two variables ?
(1) Ogive

(2) Pie charts

(3) Histogram

(4) Scatter plots

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330728100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 10/123
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frfafaa & & et fafy g % crafate fEgw & foau @ =@ % 9= g6y g9 % fau sagef e ?
(1) =rafeervl (&irsiea)

(2) €A

(3) e fae (fewnm)

(4) TomRvl UM (The wied)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330728101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to internal validity.

(A) Selection threat

(B) Maturation threat

(C) Attrition threat

(D) Testing threat

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (O) and (D) Only

(3) (A), (©) and (D) Only

) (A), (B), (© and (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330728101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

siidfees e 3 wf @l i gEaE Fh
(A) =99 Hadfi TR (FaaE 92)

(B) UftvgE et Tl (FegieH 92)

(C) Heu Fae T (Tfeed 9°)

(D) Tfteor Heidlt way (=T 92)

= feu o fased § 9 W& W FH =TI FIGC
(1) =€ (A), (B) 3R ()

(2) = (B), (C) =R (D)

(3) = (A), (C) ¥R (D)

4)  (A), (B), (O) 3R (D)

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 11/123
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1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330728102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the datasets with the following means (% ) and standard deviations(o) in decreasing
order of their coefficients of variation.

(A) o0=43, X =138

(B) o0=38, x =127

(C) o=57 x =149

(D) o=4.7, x =14.1

Choose the correct answer from the options given below :
(1) (A). B), (C), (D)

(2)  (B), (O), (D), (A)

(@) (©), (D), (A) (B)

(4) (D), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 5330728102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<q TRl &I frefafea meEt () S wFE famer (o) % @ 31E fo=wor qoiE % Hed wW § Fatted
Fifer
(A) o=43, ¥ =13.8
(B) ¢=3.8, x =12.7
(C) ¢=57 X
(D) o=4.7, X =14.1
A= fou o fased § 9 W& W FH T FIGC
(1) (A) (B), (O, (D)
2 @), (O, (D) (A)
(@) (©, (D), (A) (B)
@) (D) (A) (B), ©
Options :
1.1
2.2

3.3
4.4

=14.9

Question Number : 15 Question Id : 5330728103 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/123
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Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Scale of Measurement) (Example of Variable)
(A) Nominal (I)  Height of students
(B) Ordinal () Time of Day
(C) Interval (II) Caste
(D) Ratio (IV) Rank of Army personnel

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©O)-(1V), (D)-1)

(3)  (A)-(L), (B)-(1V), (C)-(1L), (D)-()

4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 5330728103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 GE-11 =1 THe i

i1 -1

(\Ta T Y ) (= T QT )
(A) e (FAfETe) () feenfeE it oo
(B) HAgTE (HAMET) () fea =1 w7
(C) 3T (1) =ifa
(D) &I (IV) H=rHl =i I

A=t feu T foepedi H 9§ W& I =4 HIW
(1) (A1), (B}-(IT), (CO)~(II), (D)-(IV)
(2) (AL, (B)-(1D), (C)-1V), (D))
(3)  (A)-(I), (B)-(IV), (O)(ID), (D)-(I)
(4) (A1), (B)-(D), (C)-(I), (D)-(I1)
Options :
1.1
2.2

3.3
4.4

Question Number : 16 Question Id : 5330728104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/123
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The major difference between Television and Cinema is :
(I) Eye movement

(2) Sound reverberation

(3) Bandwidth

(4) Liveness differential

Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 5330728104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeAtfarer ofr o § g s = 2
(1) 9 g=e

(2 =M SFIE

(3) e ek (s fagy)

(4) Sidaa fadew

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 5330728105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to David Holmes, the textual or behavioural qualities of communication are determined
by the architecture of the particular -
(1) Medium

(2) Message

(3) Noise

(4) Ideology

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 5330728105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 14/123



8/30/24, 11:18 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Sfoe &9 o SER, TR ge-fauge a1 SHaer e quermed # fafe 1 Gl
(enfeheaaR) § ffor o s €1
(1) Heam

(2) W

(3) W

(4) fEa=mEm

Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330728106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The medium of Internet is described as :
(A) Restricted possibility

(B) Unimpressive theology

(C) Universalist

(D) Redemptive

(E) Electronic assembly

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(@ (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (B), (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 5330728106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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222 °F WY o fRg w9 ° 9viF forar s © 2
(A) wfasfea Fyrera

(B) STHWTERE YHfag™
(C) wrEYdmarT

(D) far=®

(B) seraRiieh WS

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) = (A), (B), (C)
(2) = (B), (O), (D)
(3) %= (C), (D), (E)
(4) A (A), (B), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 19 Question Id : 5330728107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following modes of communication :
(A) Written

(B) Face-to-face

(C) Print

(D) Broadcasting

(E) Datacasting

Choose the correct answer from the options given below :
1) (A), (©), B), (), D)

(2 (B),(A) ©), D) (B)

(3)  (©). (D), (E), (A), (B)

4) (D), (B), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330728107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g o frfatad Ml & HE T HE Sl Ted FHife ;
(A) fafaa

(B) SHA-HIHA
(C) H="
(D) WERO
(E) SerehIfa

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) (A) (Q), (B), (E). (D)
(2) (B (A) (C) (D), (E)
3 ©, (E), (A), (B)
4) O (E) (A), (B), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 5330728108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Concept) (Description)
(A) Closed text (I)  Verbal expressions
(B) Principle of safety (II) Basic rhetorical structure
(C) Orality (ITI) A text to elicit a single response
(D) Cluster (IV) Avoidance of risk

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©)-(1V), (D)-1)

(3)  (A)-(LD), (B)-(IV), (C)-(L), (D)-(II)

4)  (A)-(IV), (B)-(I), (C)-(IL), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 5330728108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tt-11
( ST ) (Fuia)
(A) TgH TS (1) g sfveafaaal
(B) Htem waHt fagia (I) T STEHRIE G
(C) HifiEswa (III) Teel =1feRaT 9Te A o foa ore
(D) HE (FF=) (IV) SifEd | ==

= feu T fomredl H ¥ W@ I A =9 FIW
(1) (AND, (B-(I), (O, (D)-(IV)
(@ (A)-W, B-, ©-1V), D)
(3) (A1), BHIV), (O-D, 1)
(4)  (A)IV), (B)-(1), (C)-(IL), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 21 Question Id : 5330728109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the value of the expression :

(0.12x 0.12x0.12)+(0.012x0.012x0.012)
(0.48x0.48x0.48)+(0.048x0.048x0.048)

: 1
M 15
1
@ 3
(3) 4
1
@ =
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 5330728109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(0.12 % 0.12 x 0.12) + (0.012 x 0.012 X 0.012)
(048 0,48 0.48) + (0.048 X 0,048 x 0,048) 1 17 31 PITSIC

T
T
& <
@) 4
T

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330728110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the series given below. Find the number which can be inserted at the place of question

mark (7).
5, 14, 39, 88, 209, 7, 667
(1) 378
(2) 297
(3) 299
(4) 375
Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330728110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= & T 9ol W fo=Er Fifew | w9 fag % e W e wenfg sk S Srel 9E J19 S
5, 14, 39, 88, 209, ?, 667

(1) 378
(2) 297
(3) 299
(4) 375
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330728111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is/are true ?
(A) If the selling price (SP) of an article is ¥ 40 and the gain is 15 %, the cost price (CP) of the
article is ¥ 32

(B) A man bought a toy for ¥ 150 and sold it at a profit of § %. He sold the toy for ¥ 162

(C) A man buys a cycle for ¥ 500, but due to some problem, he sells it for ¥ 400. He thus incurs
a loss of 22 %

(D) Cost price of an article, if its SP is ¥ 210 and the loss is 30 %, is ¥ 300.
Choose the correct answer from the options given below :

(1) (A) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 23 Question Id : 5330728111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefarfaa # & #m ar/8 g g/E?

(A) Afg forHT =reg o1 fasha qed T 40 § ALY 15 % &, 1 o5 o1 @R Jed T 32§

(B) U&=l A T 150 1 Uk FEgeiia1 Eliel 3K 39 8 % HAF W o= | 394 faein #1 T 162 # o=

(C) T =Afa T500 H Uk Wrefohel Weal €, W el 0w & FR0 9% 39 T 400 H 9=l €, 3H YER
W 22 % B A €

(D) afe fordt areg =1 forrg Heg T 210 TR =1 30 % & o 39 =% o1 @Fd 464 T 300 &

v feu o faredi § 9 WE I 1 =TI FIfSU

(1) e (A)

(2) FEA (A) 3R (D)
(3) ae (B) 3N (D)
(4) = (B) 3 (O)
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330728112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain code language :

“Bitter patience sweet fruit” is coded as : “Bo Po So To”

“Art is sweet happiness” is coded as : “Ao Io So Ho”
“Hoping is concealing bitter” is coded as : “Hp lo Co Bo”
“Patience is art of hoping” is coded as : “Po lo Ao Fo Hp”
How “Patience is happiness” will be coded in this language ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330728112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eaeil HE HHT -

“Bitter patience sweet fruit” %! “Bo Po So To” % ®4 H Feds foran 2
“Art is sweet happiness” %! “Ao lo So Ho” & €9 H Feag e S ¥
“Hoping is concealing bitter” =l “Hp Io Co Bo” eI ETCEACRIRSIG] g
“Patience is art of hoping” %l “Po Io Ao Fo Hp” % ®9 ¥ Fedsg foham S ©
9 991 § “Patience is happiness” I fod YR Feag fhan smam ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 5330728113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A man invests ¥ 1550 in two parts, one part at the rate of 8 % interest and another part at the rate
of 6%. If the total interest earned in one year is ¥ 106, find the amount invested at each rate of
interest, respectively.

(1) % 650 and T 900
(2) % 700 and ¥ 850
(3) % 750 and T 800
(4) % 800 and T 750
Options :

1.1

2.2

3.3
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4.4

Question Number : 25 Question Id : 5330728113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A T 1550 1 1 T H 791 SR €, Ul ST 8 % 1 S R AR g 9T H 6% H W W AfS
ue T H erfsta foram T e = T 106 ® O WS o W FA9: e 5 g afer 3 Fwifew

(1) % 650 3 T 900

(2) T 700 3T 850

(3) ¥ 750 3R T 800

(4) T 800 3R T 750
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330728114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“If one eats mushrooms after a long gap of time, one falls ill. I have been having some digestive
issues since morning today, therefore there must have been mushroom in that mixed vegetable
soup we had last night” which fallacy, if any, committed in the above argument ?

(1) Itisa valid argument

(2) Affirming the consequent

(3) Hasty Generalization

(4) Begging the question

Options :

1.1

2.2

3.3

4.4

Question Number : 26 Question Id : 5330728114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofe 1 =afaq OH9 & UF o a0 F 91E HIET F1 Y9 Fal § 9§69 9 ¢ HiE F oA
Tt B e Heiel T o g 9 @ T, safau s ufs # faw e ffya afsei % gu i e @
BT | 39 g H, Afg 1S o, foRan T <9 i € 7

(1) TETH Y g ©

(2) Fd 9 fauE

(3)  fa=nia |mr=ieR

(4) ST 9

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 5330728115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are squares” is given as true then which of the following statements
can be inferred to be false.

(A) All rectangles are squares

(B) Some rectangles are not squares

(C) Some squares are not rectangles

(D) No rectangles are squares

Choose the correct answer from the options given below :
(I) (B), (C) and (D) Only

(2) (D) Only

(3) (B) and (C) Only

) (A), (B), (©) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 5330728115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af FYF-'Fo o9 a9 €, # I & ' ° foan w0 € @ frefafea § 9 59 s o ome F e A
ST feran S Sehan 8 2

(A) W|eft st o €

(B) F® oHd = Tl €

(C) F = 31a T &

(D) oI Sft Ta o 7 §

99 fou o fosredi O 9 W& I F F5H AU
(1) = (B), (C) ¥t (D)

(2) =4 (D)

(3) I (B) 3R (O)

4)  (A), (B), (C) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 5330728116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following propositions are contradictory ?
(A) All squares are rectangles

(B) No squares are rectangles

(C) Some squares are rectangles

(D) Some squares are not rectangles

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 5330728116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas & | S afasfear s €2
(A) | o 37 €

(B) HIE off I Iyad AL ¥ |

(C) FS o aaa g |

(D) FS I A Tal & |
= fou e fasredi © 9 WE I H 95 FIfAT
(1) e (C) &R (D)
(2) O (A) (D)
(3) eI (B) 3R (D)
(4) FE (A) 3R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 5330728117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the propositions that are logically equivalent .
(A) Some books are novels

(B) Some books are not non-novels

(C) Some novels are not non-books

(D) Some novels are books

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (A)and (C) Only

(4) (A), (B), (C) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 5330728117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea # 9 =7 wfasfad # Te=am Ffee s afds T 9 goaed € 2
(A) FS T STIH T

(B) F® Y& -39 TEl € |

(C) F9 3T=E - T2l |

(D) FS 3TH THF & |

= feu o faeredi § | W& T T2 FHET

(1) == (O) R (D)

(2) A (A) (D)

(3) A (A) 3R (C)

(4)  (A), (B), (O) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330728118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Somdutta who is never seen eating during the day time is constantly gaining weight. Therefore,
she must be eating during the night time”. As per classical Indian philosophy which instrument of
knowledge is used in the above statement ?

(1) Perception

(2) Analogy

(3)  Verbal authority

(4) Postulation

Options :
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1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330728118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 o Tug A el off WrE T e S T S o YR A W w1 | 39, 58 U 3 9ee
WA 3 T8l 2R 1" I RS 99 % ST99R SWiE &y § 39 F fg anm o uge e e g ?

(1) oy diy
(2) 39
(3) 9IeE 9HIO
(4) 9
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330728119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that displays unwanted or sometimes irritating pop-up
advertisements which can appear on your computer or mobile phone ?

(1) Spyware

(2) Adware

(3) Worm

(4) Trojan Horse
Options :

1.1

2.2

3.3

4.4

Question Number : 31 Question Id : 5330728119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

01 H | 3 98 Gidgl © S Sfdifed stger w1 w4 a1l 99— o gefia s & S
TR gt e Hemse B T Yehe 8 HeRd © 7

(1) T
(2 TEEAW
@) 9

(4) ZreEEd
Options :

1.1

2.2

3.3

4.4
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Question Number : 32 Question Id : 5330728120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microsoft Access is an example of a(n)
(1) Operational resource toolkit system
(2) ERP system

(3) Database management system

(4) Knowledge management system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330728120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HreshETRe vy e 8 § foRae seem 27
(1) JETeHeE HHHA Zeiche Wl

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 5330728121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the coverage area, identify the correct ascending order of the following four types
of computer networks A-D :

(A) WAN
(B) LAN
(C) MAN
(D) PAN

Choose the correct answer from the options given below :
(1) (D), (B), (C), (A)

(2) (B), (O, (A) (D)

(3) D) (©), (B), (A)

4) (A) (B), (D), ©

Options :

1.1

2.2

3.3
4.4
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Question Number : 33 Question Id : 5330728121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS & & YR W FH 42Tk o 14 T- THRI A-D F el TRE! W S Gedr Hired ;
(A) TG T (WAN)
(B) TAT T (LAN)
(C) THTTI (MAN)
(D) W TUA (PAN)
= fou o faded § F W& W FH =TI FIGC
(1) (D) (B), (O, (A)
2 (B), (©), (A), (D)
@) D) (©), (B), (A)
(4) (A), (B), (D), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 34 Question Id : 5330728122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following devices are computer output devices only ?
(A) Scanner

(B) Plotter

(C) Light pen

(D) Projector

(E) Speaker

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only

(2) (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330728122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 28/123



8/30/24, 11:18 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

e # & i gfaat Faa Feer 1 (sm=eye) g €2
(A) TR

(B) X

(C) @ W

(D) WSt

(E) @

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) &= (A), (B), (D) &R (E)

(2) = (D) &R (E)

(3) e (A), (B) 3R (C)

(4) = (B), (D) ¥R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330728123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(ICT Term) (Definition)
(A) VolP (I) A tool for real-time communication between two or more

people sending text messages to their devices

(B) Instant Messaging (IM) (I) A system of interlinked hypertext documents accessed via
the Internet

(C) VPN (IIf) A technology that allows you to talk with other people
using the internet

(D) WWW (IV) A network that protects data by encrypting network traffic

Choose the correct answer from the options given below :
(1) (A)-(1D, (B)-(I), (O)(1V), (D)-(III)

(2)  (A)-(IV), (B)-(1D), (C)-(1LL), (D)-(I)

(3) (A=), (B)-(I), (O-(I), (D)-(IV)

(4) (A)-(), (B)-(T), (O-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330728123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tet-11
(g i 2 ") (‘wfwraT )
(A) ot &0 e @ (VoIP) () 1ot il o are Haw 991 T < 71 Aferek safedi
=T arcaifires T9IR 7 ST
(B) Ok W YU (&ME wH) (IM) (1) FeE % wregw § st wrem Hhifed eemea gore
JoTTE!
(C) ot dt T (VPN) (Il) =& G S TI9eR 32012 o Wam § 319 w9
e A 1 AT Sl §
(D) &g =g g5g (WWW) (IV) € "o Sl eeeh A1 o hISIhv gHI <12l |
E2GI

= feu U forredi H @ W& 3T A = FHIWY
(1) (A)-1D, (B)-(0), (O-1V), (D)-(I1)
(2)  (A)AIV), (B)-(1I), (C)-(ILD), (D)-(T)
(3)  (A)-(), (B)-(D), (O)-(IL), (D)-(1V)
(4)  (A)-(), (B)-(D), (O-(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 36 Question Id : 5330728124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwi_ng are routes for exposure to pullutants m humans ?

(A) Inhalation

(B) Consumption

(C) Ingestion

(D) Dermal

(E) Digestion

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (B (D) and (E) Only
(4) (A), (O) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 36 Question Id : 5330728124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THE B U F SUTEA F 0 fefafaa § g wm E 2

(A) S TIEA
(B) 39
(C) iaem
(D) wE
(E) Hr=d

9 fou o fashedi H | W& I FH FFH FIfAC
(1) %9 (A), (B) 3R (C)
(2) FEE (A), (C) 3R (D)
(3) #Ed (B), (D) iR (E)
(4) FFA (A), (C) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330728125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as a prominent indoor air pollutant ?
(1) Mercury

(2) Radon

(3) Helium

(4) Argon

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 5330728125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | 58 ©F TE o1iafe 99 YU+ & a1 9% WHE1 ST € 2
() 9

2 A

(3) Efeam
(4) mH

Options :
1.1
2.2
3.3
4.4
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Question Number : 38 Question Id : 5330728126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Leachate is a :

(1) Green house gas

(2)  Air pollutant

(3) Liquid extract from landfill site
(4) Ozone depleting substance

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 5330728126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frenfea uemel (efee) 2w .
(1) 7 zRy

(2) @ 9gHh

(3)  yfFsEor =i § i a3
(4) SIS aor geref
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330728127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about tropospheric or ground level ozone ?
(A) It is called as good ozone

(B) Itis formed due to downward transfer of ozone from ozone layer
(C) Itis formed due to the action of sunlight on oxides of nitrogen
(D) Itisa green house gas

(E) Itis a key component of photochemical smog

Choose the correct answer from the options given below :

(1) (B), (©), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (©), (D) and (E) Only

(4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 39 Question Id : 5330728127 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1 5 9 [ afvHeeg Sge YT S % G99 | Hel ¢ 7

(A) Y TH 3= S Fal Al @

(B) e el Wa B 3 1 A= ot IR sfaftg @ & wwor fafda S ®
(C) & E2roM & Sise T gEReET #1 fofan & R fAfifa &t &
(D) IE TF WA 258 7§

(E) I% YohTO-THTATTF (RRIhiHeFel) el o THE Ho2F ©

= fau o fawmedi #§ 9 W& I 999 FHifAC

(1) = (B), (C), (D) 3 (E)

(2) EE (A), (B) #R (C)

(3) %= (O), (D) ¥R (E)

(4) e (A), (D) 3T (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330728128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about International Solar Alliance (ISA) ?
(A) There are over 100 member countries in this alliance

(B) Its head quarter is in Geneva, Switzerland

(C) Most of its member countries lie between equator and tropic of cancer
(D) Primary objective of alliance is to efficiently use solar energy

(E) It is a collaborative initiative of India and France

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2)  (A), (D) and (E) Only

(3) (B), (O) and (E) Only

4) (C©), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330728128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR 6 Teas (96 w9 T) & an § 74 § § 1 99 22
(A) =@ ER H 100 ¥ s g Tw it €

(B) U gEATE e, fafeseiz # &

(C) 3HF ATCRRIY Wew e T 37 ek v & 0o feom €1
(D) 39 TEEYA 1 WTHF 3599 G 3N =1 &1 ST FE1 B
(E) % 9RA 31N W% =i TF Gearl Jed 2|

= fou o fasedi §f 9 W& I 1 T HITAC

(1) e (A), (B) 3T (D)

(2) % (A), (D) ¥R (E)

(3) 9 (B), (C) IR (E)

(4) = (C), (D) 3R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 5330728129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kothari Commission (1963-64) suggested spending of national income on education.
(1) 3 percent
(2) 6 percent
(3) 7 percent
(4) 9 percent
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 5330728129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS AN (1963-64) A e W U9 &4 & T & =49 1 Gara o o
(1) 3 gfaem

(2) 6 gfayd

(3) 7 ufayd

(4) 9 gfaem

Options :

1.1

2.2

3.3

4.4
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Question Number : 42 Question Id : 5330728130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1948-49) suggested a bachelor degree of :
(1) Fiveyears
(2) Four years
(3) Three years
(4) Two years
Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 5330728130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fovafaemera f1am s (1948-49) 9 fohe aui @ & ©aw fei % fou ggma fean on?
(1) =

(2) =Ry

(3) < o

(4) Qo

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330728131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were measures initiated by Lord Auckland ?
(A) Guaranteed the maintenance of oriental colleges

(B) Publication of useful works for instruction in oriental languages
(C) Selection of certain places for establishing central colleges for highest instruction
(D) Closure of college libraries

(E) Abolition of student scholarships

Choose the correct answer from the options given below :

(1) (A), (B), (O) Only

(2 (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (D), (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330728131 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

e Alkeis 7 FafafEs § FHE 3u" gy fFu 972

(A) wr=g welfaarerdl (STftdeel FHIers) o STEeror i el YSH i
(B) WA wrisd H SHe % ford SwEnh FHiadl @1 g H

(C) =IaH 3T & foq Fwsig werferererdl i L= ¥ Hiqud T &1 999
(D) WeIfeRIea % YEashlcrdl ol g el

(E) foenfel =t wmafai =1 waifa

= feu mu fawredi § 9 WE I F T2 FfSU

(1) e (A), (B), (C)

(2) e (B), (C), (D)

(3) e (C), (D), (E)

(4) &= (A), (D), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 5330728132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the correct chronological order of the establishment of the following colleges :
(A) Fort William College, Calcutta

(B) Sanskrit College, Poona

(C) Central Hindu College, Benares

(D)  Anglo-Vedic College, Lahore

(E) Sanskrit College, Benares

Choose the correct answer from the options given below :
1) (A), (B), ©, E), D)

@ (), (D) (B), (B), (A)

@) (D), (B) (A), (B) (©)
(4) (B, (A), ), @), ©
Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 5330728132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa Terfaeredl 1 T o el FHIcTshiHe HH i Tgar il ;
(A) e fafezm e, o
(B) H&Rd Helfa=eT, I
Q) w2 foxg weifamned, F Iy
(D) Ure-afes Fiers, TeR
(E) HERd HelfE=eE, sRE
99 fou Tu fasredi H 9 W& 39 FFH FIfAC
(1) (A), (B), (O, (B). (D)
(2)  (©. (D), (B), (E), (A)
(3) (D), (E), (A), (B), (O)
4) (E) (A) (B), (D), (O)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330728133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Commission) (Recommendation)
(A) Hunter Commission ()  University technological departments providing for
research and teaching
(B) Sadler Commission (I)  Withdrawal of government support to collegiate education
(C) Hartog Committee (IT) Development of mofussil colleges into future university
cenlres
(D) Sargent plan (IV) Enrichment of college libraries and concentration on

Honours courses in select centres
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(ID), (C)(I), (D)-(IV)
(2)  (A)-(ID, (B)-(ID), (O)-(V), (D)-(0)
(3)  (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330728133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teli-1 TElt-11
( 2rErT ) (3TeTET)
(A) B AT () 9y i forem yere =2 & gey ¥ favafaares & drifmsm fagm
(B) USSR &@EM () Welfaamed fen 9 Sl §Hefd g2
(C) =R gfufg (IIl) HFeqe Helfaared & dwel foavafaeme™ =i ¥ fawfaa e
(D) W= GreT (IV) werfaene™ & qEakmedl & Hadq 3R gfer #=i § 176 T2mra
et
= feu o fosredi | W@ I FH =T HIGC
(1) (AHD), (By-(II), (O)-(II), (D)-(IV)
(2) (A1, (B)-(ILD), (C)-(V), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)-(D), (D)-(I)
(4)  (AHLV), (B)(D), (C)-(IN), (D)~(IM)
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072322
Question Shuffling Allowed : No

Question Id : 5330728134 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow :

Holidays are often a time of culinary indulgence even for people who are usually careful about
diets for the rest of the year.

But there is more to holiday eating than avoiding excess calories. What we eat affects the health of
the entire body, including the immune system. Since the most of the body’s immune system is concentrated
in the gut and the trillions of healthy bacteria living there called the microbiome - what we eat has a
direct impact on how the immune system functions. “A lot of people don’t think about the effects of
what they eat on immunity. But the science says it's crucial”, says Heather Moday, MD, Founder of the
Mnday Centre for Functional and Intergralive Medicine in Norfolk, Virginja, and Phjladelphia. And it's
especially important at this time of year, Since the winter holidays occur around the time when illnesses
like colds, flu and other respiratory illnesses peak.

While an occasional indulgence probably won't cause lasting damage, throwing caution to the
wind till New year’s Day is certainly unhealthy and might make you more susceptible to getting sick.
“Even just a month of really just blowing it and not caring about nutrition can impact the microbiome”.
says Kristin Kirkpatrick, a registered dietitian at Cleveland Clinic’s department of wellness and preventive
medicine.

Sub questions

Question Number : 46 Question Id : 5330728135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Important key message the above text conveys about holiday eating can be stated as follows :
(1) Itis important to completely avoid indulgence

(2) Occasional indulgence is unlikely to cause lasting damage

(3) Diet has no significant impact on the immune system

(4) Holidays are an ideal time to experiment with extreme diets

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 5330728136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct statement that describes the primary focus of Heather Moday’s statement in
the text :

(1) The benefits of a balanced diet

(2) The relationship between diet and immune system
(3) The importance of regular exercise

(4) The effects of meditation on health

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330728137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are effects of diet on the body’s immune system as discussed in the text ?
(1) Increased cholesterol levels

(2) Direct impact on immune system functions

(3) Improved skin health

(4) Loss of appetite

Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330728138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microbiomes are important as :

(1) They create lots of sugar in the body

(2) They are healthy bacteria living in the body

(3) They may raise blood pressure and heart disease risk

(4) They increase the tendency for processed food

Options :

1.1

2.2
3.3
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4.4

Question Number : 50 Question Id : 5330728139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4)  Occasional food indulgence will cause lasting damage

Options :
1.1
2.2
3.3
4.4

Question Id : 5330728134 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

ferw U TEITYT St UgeRT WYl o ST EITa

gfgat yra: 37 mt % fow off @ # dferad &1 w2 €, S e ad § o7 SeR % 9 H |
T W 2 |

cifer, stfafter Fer & 9o ¥ 5= % 999 Pl & fo Trae & 9§ o) of 91 €1 89 S @ w5
¥ Iue gfeierss yomell afed Gl IR % Tared W uYE Tedl €1 iifE I F sifernie ufeterr yomedt ot
T Hopf=d € 3R e foremm owal & T o AiEshiaram e T SEiean (SiE]) -gn 4 W ¥, SHH Toda
T9TE Teal & foF wicremss gonell Y #1d Fdt ¢ | aga-a @R 3 W 9 ioiE 1 g2 9l 99 o 9
T & Hrd € afe fagm Fea ® T 72 veoqul €1 9% WdwE, gt R frersfern § de 8= wR
hRM g Farifeq Afefam % yay fewe vd Srays T HIE F FeN €| SR g ad & 39 g9g ¥ faum 'y
H Heayu € FifE 9l #1 wfcal oy 36 99 2l €, 59 W, W &R YagT SR 9H W e € |

iR AT-hal WA | Sfera 31 Syad: T afa 98 geanem, dfwd Ta-a4 % G 7 gy 1@
e T € srarers € S SR S § Ufa R T €1 Feligeie gl & 9oy ue frafea
Hfefad fewdiez ¥ ysiigra smer fasvs foreia fardhfes o1 Fem & ' arce | W U W | aT9Eme e siit
o 2 R H e T 39 I WEREEN R 99E U gk g1

Sub questions

Question Number : 46 Question Id : 5330728135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IUF 9IS 5N BEl & e &% @AY H Hieraar % 9] H Siaely T Heequl 1 G Fi frefaiead % '
¥ srfiyeram foran < Te €

(1) @AY o e | qoia: a9 Hewgd

2)  FE-hel WA H Sfereal gr et aifa sEafe 2

(3) TER 1 YIOET JOIEl T 1S Hield GUE el g 2 |

(4) fedi & feT sfa—am e & 9 99 37 % Th 59 909 © |

Options :

—
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1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330728136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TE FHYF 1 T Fo0, IS H BT 1S F FYA W NAfTF B9 G oH Figa =4 F 9N H T F=a

(1) Hafera er & o

(2) SR AR W& Yomed o e Gay
(3) frafma =mam = 9

(4) =M % @ |/ Y9E

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330728137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § wOr & gfoweon yomelt | 21 & fohg gura =i == #T T § 2
(1) 3 gY FleRIe &R

) wfaeeror guret < el W geds a9

(3) T F WA H guUR

) @ A T

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 5330728138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) 3 R ¥ sreaferr 960 30 F4d B

(2) IR H oA @ s (Siem) €

(3) A FaEm iR 7 e I &% sifew #§ gfg g ¥
(4) 3 TEERT @ UeHel % Hed o1 99t 9gid & |

Options :
1.1
2.2
3.3
4.4

Question Number : S0 Question Id : 5330728139 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 41/123



8/30/24, 11:18 AM
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

frefafaa § 9 Fr w99 39dF T8 F Heol o WE E €7

(1) Afg a9 e % =R 7 gaia "eH s € 9 98 &0 afa ad €

(2) wfaer s Ty 990 WA F fon Sfaa 9 Sceayds aiF | =eTE A€ e =fen, afes g
At Yerafeerd aF 8§ SeHaqul WATH A =1fey |

(3) BW SN WFYH FA T, SHHRT FIRETT TOTE T Fedel YoTd g2 ¢

(4) T WA | e T s Tgamet

Options :
1.1
2.2
3.3
4.4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

533072109
2

Online
Mandatory
92

92

200

0

1
533072323
Yes

Question Number : 51 Question Id : 5330728140 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TETYTd BT/ §d HI-Hd] g YIeTl- SIRguTg 18-

1. A3 TOA™
2. Ter 91T

3. 312 e T R
AT SREGATY HYTS

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 5330728140 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TETATd B STd HIFHT Yy YAelTg+ SRIYTE TST-

1. HIgE 3@
2. T ST Y

3. 312 e T R
AT SRETGATY HYTE
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Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330728141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B YHHA GRAF-

1. WA Folklorist
2. SITHR@T Folklorist
3. 3T Folklorist
4. TSI Folklorist
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330728141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S yHTA GRAHA-

1. W Folklorist

2. 3THR@T Folklorist
3.3TRMAM Folklorist

4. STEIETH Folklorist

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 5330728142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Boro Folk Songs And Tales fSee@] eREHH-

1. Afg-t Hg s
2. WG o9& YgEd
3. UHa I e

4. TP v TRATH!

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 5330728142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Boro Folk Songs And Tales fSee@] eREHH-

1. Aig-! He4 5
2. WG o9& YgEd

3. YHE 9% 5§
4. TP v TRATH!

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330728143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W GAFYT TORGIAE B §ig)-

1. e+l tad
2. 9 yHTA
3. 1Y fagl thag
4. 98 T=RTH

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330728143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e AR AR wa)-

1. e 2w
2. 19 yHEd
3. 1H faaT tharg
4. 918, T=REA

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330728144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YALI1d SEE oA 8 S e §8 AW TRAE-

1. &R 7Tl
2. AT SR XFal|
3. gieT gt
A, SEHIGTIES]
Options :
1.1
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2.2
3.3
4.4

Question Number : 55 Question Id : 5330728144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YATIEUTE Gea oA TS TeRd] a5 s eRAg -

1. &R 7Gell

2. AT SR Xaa|
3. §TeT ITasl

4. SHIGTRIES]
Options :

1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330728145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YA MEH EE SRS Mg R e w1g [ @6l
1. AT TeEU™

2. 3T T Al

3.3EH

A, TS

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330728145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YA MEH EE SRIGE Mg R e w1g [ @6l
1. AT TeEU™

2. SRFTTE A

3.3EH

4. 7T

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330728146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e s’ YAeigH AR gHTs mem ¥R €491 wal-

1. a1 TERT
2. B IR 5§
3. 5ol HHR 5§
A, FHR S A
Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 5330728146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e $¥ yAeieH RN gHTs mem ¥RE) €91 wmdl-

1. R AR
2. HHA AR Fal
3. 5ol HHR 5§
A, FHR S e

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 5330728147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e A ® R &8 JH9ar Ty 83 Y-ellg g SHIEYTY-

1. WHI< GH™
2. oAt i
3. &R Rl
A, IR ST gHfy

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 5330728147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETATd BT R &8 AT TS S YAeSH SRIYTE-

1. {HI<d GHH
2. oAt iy
3. &g i+
A, BIRY ST 9Hy

Options :
1.1
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2.2
3.3
4.4

Question Number : 59 Question Id : 5330728148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR &' Fe'ad TMeTd 5110 X FH 0T HaTRE! ska=m 301

1. 17 ST

2. TR oA
3. M d&-71g
4. 3019 e

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330728148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STER| Y&’ Ga'drd MerTd & -1 &X' GHTS J] SaiRE] s@e=g 701

1. YT ST

2. T ftrfam
3. SR Y-
4. 3019 gATHEAE
Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 5330728149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR SE R FIaIET WS [Sara el |l Wiurg] SR a1 Hi1-

1. R ARG
2. ol R

3. GlERH ¥H[-
4. 3= A
Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 5330728149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e ATERIT HsaaT TS [Ssara e 71 WiRE! I =1 JiH1-

1. R ARETY
2. g1 g

3. 2IERE I
4. 3= A
Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 5330728150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT T ARIE TERIE &1/ AT SIaRE] SE -1 341

1. T 4919 919 TTEAE
2. VHM B SHESRAT
3. WS ARG
A, BRI MEHTg
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330728150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G- T HRTE MG g1 AT GIaRE] SRE 1 341

1. TT=51 YA AT AT
2. VUM g THEYRAT™
3. @YTE GRS
4, TR MEH1g
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 5330728151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR T YT TTETHTE BT &8 STHERE] i 1 # -

1. fSGERT RT Ferann
2. YAHTET

3. e AT
4. 9475

Options :
1.1
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2.2
3.3
4.4

Question Number : 62 Question Id : 5330728151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Y YT TTETETE BT S8 STHERa] i FH1 A -

1. fSGERT RT Ferann
2. YAHTET

3. e AT
4. 9475

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 5330728152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R HiET He9-

1. AFGERA
2. T
3. W
4, gty
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 5330728152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T HTET H -

1. 4HFgEA
2. H I
3. qH
4. TR
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330728153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SIS [Soned! foRg HH-

1. g e'eel’e
2. Heyfd
3. ANHE D<ih
4. SF=CaET
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330728153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

tFOTel'E SoTed! foRg |-

1. Hg T'TT
2. YeHfd
3. TS Hrdeh
4. S FET
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330728154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Best words in the best order” T TR TaAM-

1. SF9H
2. fhew
3. HRS
4. AfY3 3RS
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330728154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Best words in the best order” §HT1 ¥R §&HH-

1. & H4
2. fbeHw
3. Felfe
4. AU 3RS

Options :

1.1

2.2
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3.3
4.4

Question Number : 66 Question Id : 5330728155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y& qOdl s Y= IHWHT Y U] 4= ToR1E Siaqd SHEA A §R SatdE-

1. TR WA T
2. 8@l
3. g
AT
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 5330728155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y& qO'dT ST Y TFBT YT UET Y= ToR1d Saqd SHEA &4 9R gaiH -

1. TR Wi O
2. gt
3. 89R
AT
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 5330728156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR G GRTEE] W0 95 Seal §RI- G TEH |1 a6 HiF-

| B EEA R R
2. SiEeT= g
3. 5 icH

4. T TR

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 5330728156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRU HF GATEE THE 95 Seldl SRH SYEH 9 daE HE-

1. AP F%d]
2. SilEe=< S
3. 5 HieH

4. T3 TR

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 5330728157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Comparative Literature Tiais@! s AfEY A1 AroumE SEEOE W6 HH-

1. 1848
2.1884
3. 1846
4. 1906
Options :
1.1
2.2

3.3
4.4

Question Number : 68 Question Id : 5330728157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Comparative Literature T2edl {79 93 77 A0U™E SREWE & H-

1. 1848
2.1884
3. 1846
4. 1906
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330728158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOUTATR YAaTs AfemE HRATR BHYH (Indian School) ST AT SHTHTE TSR] 1+ W& 1-

1. 3g1ER TEre = yram™

2. MG Ia@r2 g 4 YR

3. 91 AN SH1 YRETg

4. YRR Ia1@ S IEEr {eE 13 yram
Options :

1.1
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2.2
3.3
4.4

Question Number : 69 Question Id : 5330728158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SOUTTR YAeTs AfemE URAR BHYH (Indian School) ST AT SHETE T RAH! T4 W& 1-

1. YEER TTEreF yEw™

2. e a1 e YHE 4R

3. 91 @R 91 YRaTg

4. YRATR @@ S e [ew 106 yrem
Options :

1.1

2.2

3.3
4.4

Question Number : 70 Question Id : 5330728159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ¥aE AR 3@ e gerar Ho'l-

1. BfvwT
2. SUTSSITH

3. & Hgud
4, 38|

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 5330728159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T @@ FERE 9 Sems=y §emE 8T

1. BfvmaT
2. SUTSSITH

3. & Hzyd
4. 38T

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330728160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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X Y[A] e B g -4 TaheRig TTe-

1. fa9-fadam
2. 3T
3. 3Rgh
4. 3188
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330728160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R (A1 ETd B g6 Hi9Y IahIeRd Te-

1. -l
2. 3Tl
3. HEH
Y. RAITICS
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330728161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W S G aA T Rl Mg g1y e {3 QI\SIIQQI{S?I C';I\ﬂldd%"ilq a1 IENERCINIEG K

W=
]

4. =it
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330728161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA g GiRIEH R R MEEE 59 86 998 3 STlEG ] ETaaaR-T & RIS HIeTHAY

(VO G
I

4. i
Options :
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1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 5330728162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W'WEWE& I RRIRE! A=e9 STENTISIG FRATIAT HIGTH-] g1 [-

1. 159
2. HIFYTH
3. /s
4. Hi=aT

Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 5330728162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fﬂﬂaﬁ\_ﬂm@ 3T ORI A ST ITISId FRATIAT HIeRTH-] g1 1-

1. A4
2. HIFYTH
3. Hs
4. Hi=aT

Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 5330728163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T’ EEE MR IR SemeHeiaE-

1. Rev. S. Endle
2.1.D. Anderson
3. B.N. Bismith
4. B.H. Hodgson

Options :

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 5330728163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3’ gialgw e §R SEme-aidE-

1. Rev. S. Endle
2.).D. Anderson
3. B.N. Bismith
4. B.H. Hodgson

Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 5330728164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETd g1 g AT %7 SR ITHT T H=] gldl-

1. RATT 3IRT 39 SEal
2. ROR @i 2@

3. TR SIE gl STea-™
4. TR WYTS (Diphthong)
Options :

1.1

2.2

3.3
4.4

Question Number : 75 Question Id : 5330728164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1 o HIATE! §)* R ITHT I1a1d Hi=A1 §TT-

1. RATT RT3 gIoEg]
2. ROR SumR 2@

3. 71Ok Il STgE-™
4, TR TUTZ (Diphthong)
Options :

1.1

2.2

3.3
4.4

Question Number : 76 Question Id : 5330728165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W YAF TEiE 9TRIaTd e 919 978 H99 IaH e S Teie)-

1. le=tl
PAGIIE]
ERCII]
4. ST
Options :
1.1
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2.2
3.3
4.4

Question Number : 76 Question Id : 5330728165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TN

T A G5 9TRagTd e €97 88 Hi99 IaE Me i 1 1ielg)-

1. o=l
PAGIE]
ERCISI]

4. 3 EHT
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330728166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT Tad MY H9eY TRT R §H1 ogl-

1. 7198
2. HIFsT
3. 4Ha’
4. HI-H

Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 5330728166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e TraE MY HEeY TRT YR §HE7g -

1. 09
2. a1
3. 4e’
4. 7

Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 5330728167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e 81910 IaH R g6 T9Y Iaf Mg |1 8¥ TaTd S8+ Telal-

1. Ph XW'H
2. 94dTeT
3R’
4. XTHT
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 5330728167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETTE 5191 IaH R 56 B99 a8 Mg |1 83 Ta7d S8+ Telal-

1. o XD
2. 9-dTet
3.7’
4. THT
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330728168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR TG BRE o MEE g6 T REUT §vETS -

1. JoE1g

2. ZERMR
3. HER-ET4
4. G

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330728168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR TG BRI TER! e g6 T8 HRgUTT dEE -

1. 399
2. ATBRIAR
3. AR-ETH
REIEID]
Options :
1.1
2.2
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3.3
4.4

Question Number : 80 Question Id : 5330728169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BRI GATSR I §HTT @1-2yT 95 -

1. AW Y TWE Tl
2. 91 @rf¥
3. B 4RET EFAEY

4. AT YR S
Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 5330728169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B R HEN e & -9 @12 e -

1, GHE WY TE Al
PRCIGRCI )
3. B YRaT § AT

4. A1TIE YRE] SIE R
Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 5330728170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T HRT ST A @IETHI-

1. 9 I&!
2. S AT
3. W W
4. R
Options :
1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 5330728170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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BRI WRITE! HT @Il -

1. S F&l
2. Gl &S
3. 9 WY
4, S T8RY
Options :
1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 5330728171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o HiFHgT s & 3miy-

1. A

2. SIETH I
3. ST g™

A 7™
Options :

1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330728171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eI a6 A9 s f&fd SR

1. HRIHE

2. HNETH 1T
3. N aH™

A I
Options :

1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 5330728172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TY'HRT IS Graesel g1

(RCAERCPIBREES
2. foroft eemsf 83
3. Wk fag
4.9 A 8
Options :

1.1
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2.2
3.3
4.4

Question Number : 83 Question Id : 5330728172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TY'HRT 3 FRaes] 1)-

1.3 g fag
2. foren femef /3
3. Wk fag
4.9 9 8

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 5330728173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ A
TR S 4! TXe] STH-Ed STeH]-

1. BT Ao
2. I &g
3. TR T~
4. TRTY GERTA
Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 5330728173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= .
Mg g HEd] TXe] S0 ST ]-

1. 7 &g
2. {4 Ay
3. TR T
4. TRTY THpTA
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 5330728174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e ¥4 SESid] =1 §HA/E Ser-

1. o1 w1
2. 417
3.3fr
4, =T
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 5330728174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ¥4 SSiE] =1 §H/E Ser-

1. ot arf=
2. 91aT
3.3f@
4. G
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 5330728175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IRIGIE

2. Jgaral
3. 4glerel
4. ROy T

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 5330728175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU §ETATG /-] HTel @l

1. AT
2. garl
G Sl
4. Ryt
Options :
1.1
2.2
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3.3
4.4

Question Number : 87 Question Id : 5330728176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SINTHT T STTH SEyT o] WE-

1. GERR
2. Higd &
ERGLAT
4. NhTYT
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330728176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STHE e SaTeE S"e I SEa-

1. JHEE
2. Al &Fe
ERGEALES
4, RPN
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330728177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR ST dRITE g3 T

1. IR
2. AT
3. 3FT
4. 99g

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330728177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR SEmE URE g8 -

1. IR
2. 3Tl
3. 3FT
4. 99

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330728178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR'HR] R B REAE T899 ge gH1-

1. 9ol ol
2. el o
3.9

A ST
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 5330728178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR RT AT WIQGIHIGT@@@& -

1. 9ol forg
2.7 o
3. WY

A ST
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 5330728179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YA H R S5y’ Hergrd H BYTE Jelel-

1. 145
2. TTferet
3. TN
4. grIa]

Options :

1.1

2.2
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3.3
4.4

Question Number : 90 Question Id : 5330728179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YAATH RTSZY Perdrd | HYTE TIes]-

1.19%
2. Sferer
3. TN
4, grag]
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330728180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEETE 890 EE®RE! MW TeEay B Jram-ToE ] -

A. S gersTyT
B. & T HYTE
C. Ferf s
D. TfeT St

T fohET grRa’:
1.D,C, B,A
2.A,B,C,D
3.D,B,AC

4.C,D,B A
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330728180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETATd B [AEE® RG] MeF-vhg MeH s B S =rawe ] -
A. U TerenyT

B. S’ T HYTg

C. g weim

D. HfeT Wfei

T forET e’

1.D,C B, A

2.A,B,C,D

3.D,B,A C

4.C,D,B, A
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330728181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

M B/ Nea® R TE - T e BRI 76 -
A. Boro Folk Songs And Tales

B. YXoT- R

C. The Kacharis

D. GHIHY e’

s et T’

1.C,A B D

2.C,B,D,A
3.B,C,A,D

4.D,C, B A
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330728181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETATd B ASEmRA MR Memfas BIRR Srerg-—rad) 9o’
A. Boro Folk Songs And Tales

B. gl

C. The Kacharis

D. WHHY Ha&'

T fih] grRa:

1.C,A B D

2.C,B,D, A

3.B,C,A.D

4.D,C, B A
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330728182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETE 891 [eE® R TMeEwTE TEFEE BRI Jre-ad] 9o’ -

A SREATH AT g
B. & 71 REar SR SRS
C. TUTZ fave

D. WTZ-AYTS
s el 9T’
1.A,B,C,D
2.A,D,B,C
3.0,B,C A

4.C,A DB
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330728182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETATd B ASEmRA MR Memfas BIRR Srerg-—rad) 9o’
A. SRATH SENH g

B. S T REaT SiRT 3RS

C. @Y faue

D. WUTZ-HYT

T forET grRe’:

1.A,B,C,D

2.A,D,B,C

3.D,B,C A

4.C, A DB
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330728183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TTeTATd BT Tor' |1 [Soe s R e MamRm wiRkf Sreg-rad) g’
A Ag

B. Wl &I

c. faa o

D. TTIE- HIfel

T forET e

1.C,D,A B

2 AB.C.D

3.B,A,C, D

4.D,C, B, A
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330728183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TTETATd BT §or'HT [SeE T RIS M MamRas wiRkf Sreg—rad) 9’
AR

B. WIhTe( &TEIH

c. fagf o

D. THTEH el

T forET e’

1.C,D,A B

2.A,B,C,D

3.B,A,C D

4.D,C, B, A
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330728184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MM 19/ T’ Y-eNE [SSEmRT 98 9991 B HewaR AaR], SYIRE HRIER], SHAT]
TTRT R UiHET AR o IR ST 9 -

A. HERTST 3RS

B. QRIUT et fohfean
C. §< FaRMA Her
D. <l GHTY T 5
UEREEICIRSIUC

1.B,D,A C

2.D,C,B, A
3.D,B,A C

4.C,A DB
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330728184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MM 519/ Ty’ Y=e1g [SSEHRT 98 9991 BINY Hewa ATaR], $UAREY HEER], SHAe]
TSR SR e AR SeE R gemaraE T 9 -

A. TERTS 3RS

B. R Her fhfdar
C. 1< YaRMA ¥er
D. =TSl GHTY T 5
HEREEICIRTITIC S

1.B,D,A C

2.D,C,B, A
3.0,B,AC

4.C,A, D, B

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330728185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YATGUTS Ter=d! 8T W STER IAATAE Bk Jrera-d ! 9’
A.fofam

B. QI

C. TIEAY

D. SIFTTEATH

EREICI RSIRICE

1.0,B,AC

2.C,D,B, A
3.B,A,C D

4.D,A,B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330728185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YAHIGUTS Fer<d! 84T WM STERT IAAEH BN Sera-Tea) 9rgw’-
A. fufafs

B. ETATHR™

C. BIEEE

D. SN

T forET grRe’:

1. 0B A

2 EB A

3.B,A,C D

4.D,A,B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330728186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Th'fad S1a1 SR STREAF YRAGE Tgea) BRI S —eE] Jo -
A. D

B. HIHE

C. 94

D. &<

T forET e

1.C,B,A,D

2.8,D,C A

3.A,C,BD

4.D,A,C,B
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330728186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T (a0 S1] IR SRTE GRAGE THe-ere! BIRTY Qrem-m! e’
A. P

B. HIHE

C. STA

D.&f=%

T forET grRe’:

1.C,B,A,D

2.B,D,C A

3.A,C B, D

4.D,A,CB
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330728187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MR S/ WTE AEEH R 7@ G- Ry SR 9 TeH—whe TemRme sk
RIS DEIBEEIR IO CiS

A, Tidrsfer

B. AT ¥’ IR

C. Marfeif smmd g

D. THTE §TaR1- SR'S HRT g - U3
HEREEICIRIUCS

1.A,B,C, D

2.D,B,C A
3.B,C,A,D

4. A,CB,D

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330728187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MR §HM WTE WSS R 3@ =1 Ggae-y S8R 9 TH—wmE Temme sk

AT g

A. Tfiamster

B. AT X I

C. TAFSIfeT SMmHd WY

D. YUIE §TEH SRS SR & g1 T1g
UEREEICI RSIpECiE

1.A,B,C,D

2.0,B,C A
3.B,CAD

4.A,CB,D
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330728188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

) AT BYTE IS |7 — & STURG! e 8 TS@TAgTR UReT fegre BRI arem T
T -

A HAT

B. TRTE

C. YTgul

D. YTZeTler

T fohd] grRa’:
1.A,B,D,C
2.B,C,D, A
3.B,D,AC

4.B,D,C A
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330728188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T AT BYTE IWTE] |7 — & SR RIS g Ia@T TR UReT 5T BRI arem
T -

A HHT

B. TRTZ

C. Hrgull

D. YTSET

BER T CIR I EC
1.A, B, D C

2. B, 0D, A
3.B,D,AC

4.B,0,C A

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330728189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T G @R S 4T BT MM g9 IE@HRA BIRE G- 90 -
ATHT

B. famman

C. PR

D. ferar

EREICI RSIRICE

1.A,B,D,C

2.B,A,D, C
3.B,A,C,D

4.A,B,C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330728189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T XaW @R S ¥ fRurs e 9 IahRE BIRY Qo) -
A XTHT

B. fammsr

C. PRfd

D. ferar

T forET grRe’:

1.A,B,D, C

2.BADC

3.B,A,C,D

4 A, B,C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330728190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SO BRI TR GF-AN B RT AR Y REE 07 A7 g6 57a] BRI S -awE] 67 -
A. TSR AT HIGHE

B. SHT-GHTATE Y]

C. ™ g gt

D. YIG-gEIa Bl

HEREEICIRSILIC S

1.C,D,A, B

2.B,A,C D
3. A, C, B, D

4.D,B,A,C
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330728190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SN BRI T GFRae SYHRT AR 4 TEE 1 A7 g& J7a] BN S =g 67 -
A. TSER 91eT TR

B. SHT-GHTATE 4]

C. ¥ g gl

D. UTE-ETeTa T1

e e

1.C,D, A, B

2.B,A,CD

3.A,CB,D

4.D,B,A C
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330728191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T RGN STed SURM Gg7a! 71 71 WM IR Grera-hE! a8 -
A. Tayerara f3g-n

B. Si@™ g refl

C. Te™ & e

D. Y¥HTT 7RI YTd Gl

HEREEICIRSILIC S

1.B,A,D, C

2.D,B,C A
3.A,D,C,B

4.C,B,A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330728191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T RGN STed SR ¥g7E! 71 71 WM BIRY Grera-hE! 98-
A. Rvemrg fggr

B. ST sl

C. e & Mgl

D. YT SR YT P!

RICREEEC] RSIPICE

1.B,A,D, C

2.D,B,C A
3.A,D,C,B

4.C,B,A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330728192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TTETATd BRI IR Qroirg=rawar 9o’
A. T fSe YFTTY

B. AT ST

C. ATEfoerd! faege! @Wa-™

D. ATEfoer HIH-Tg

T forET e

1.A,D,C B

3. DC B
3.C,A D,B

4 .A,D,B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330728192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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METd A HRA HIRMY ATSa-TawE! 99’-
A. AT YH-TY

B. TTgf&T S

C. ATEfoerd! feegw! @We-™

D. HIgiseT WY

T forET e’

1.A,D,C, B

2.0D,CLAB
3.CA DB

4.A,D,B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330728193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁET(E#IﬂIH"HLIId S WEE S WAEE J&4" GHE § &4 e §IFTIH R TR
ToTEHTIRE | A4’ -

A. &6 9H
B. AIH @HME
C. W @HY
D. W4T @AM
s ) o
1.C,A,B,D
2.D,C,A B
3.A,C,BD

4.8,D,C A

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330728193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 78/123



8/30/24, 11:18 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

ﬁgq G SEE ST o WHEE a4 @ ClIES e §HEH R BT
I’ -

A. 3% 9

B. ZI3H @MY
C. S@HH

D. W1 @AY
T fopa] grRe’:
1.C,A,B,D
2.D,C,A B
3.A,C,B D

4.8,0,C A

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330728194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHTfT-311g forTT BRETaTE ARERT BIiemmT W™ BIRTY Srerg-TE! Sa’-
A. TTARRT T

B. HIGTZ! &1al

C. TR H

D. Bodfermd g1 Srafer]

EREICI RSIRICE

1.0,B,C A

2 AB,D;C
3.A,D,B,C

4.C, A B D
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330728194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3Tfer-amg oy wRaETd fAReRT wifer g @ wiRfY greg-rad 9osg’-
A. TTHRTT HIT!

B. HIGTg! aTdl

C. STR 1!

D. Puffemd g1 wafiery

RICREEEC] RSIPICE

1.0,B,C A

2. MB,D0:C
3.A,D,B,C

4.C A B D
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330728195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e A BRI 96 gad1 a6l 11d HIHa! 711 |15 -

AT AT §HEERM

B. §X'H ST Tooe
C. 1974
D. 1965
T4 e g’
1. A 3R D A&
2. A 3T C 3T
3, B 3RT C 3TeT’
4. B 3R D e
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330728195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETd A HB R &8 §841 T1aw] 7719 o=l 111 HIowE'-

A. XA §1E GHIEGIRATY

B. §¥'H AT f9oE
C. 1974
D. 1965
T e g’
1. A 3R D AT
2 A R C 3T’
3. B 3R C 3T’
4. B 3R D HTeT
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330728196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETATE B BRI g6 §841 Taell 71d GIH-G] 1111 HIa9 -
A. == TR

B. Taal

C. GRTAMA Hrgeel

D. AT fAf

T forET e’

1. A 3RT D 3TeT

2; A 3{RT B 3T’

3, B 3R C 3{IeT’

4. C 3RTD 3MTer
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330728196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETATE B BRI g6 §841 Taell 71d GIH-G] 1111 HIa9 -
A. FereR=or HTeTe R

B. Taal

C. GRTAMA Hrgeel

D. e T

T forET e’

1. A 3RT D 3TeT

2 A 3RT B 3T’

3, B 3R C 3{IeT’

4. C 3RTD 3MTer
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330728197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TMETATE B BRI g6 §841 el 71d GH-G] 1111 HIad -
A. T SHR AR

B. 3% TTRT SYAIR]

C. 3TaTgl

D. Ty

T fopET g

1. B 3RT C 3TeT

2; A 3R C 3{TeT’

3. A 3R D 3T

4. B 3RT D 3Tel’
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330728197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETATE B BRI g6 §841 Taell 71d GIH-G] 1111 HIa9 -
A. S HDHR AR

B. 38U 7RI A IR]

C. 31aTgl

D. Ty

T fopET g

1. B 3RT C 3HTeT

2 A 3R C 3TeT’

3 A 3T D 3T

4. B 3/RT D 3HTel’
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330728198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETd A HB R &8 §841 T1aw] 7719 o=l 111 HIowE'-

A.gHE

B. SWERTHA® (TRISed)

oA RIEGI

D. H@ETHeTS

s har gga®:

1. B 3R] C A&
2 A SRT C 3T’
3. C 3RTD 3HTeT
4, B 3HRT A &'
Options :

1.1

2.2

3.3

4.4

Question Number : 109 Question Id : 5330728198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETd A HB R &8 §841 T1aw] 7719 o=l 111 HIowE'-

A HE

B. WG HA® (TRISed)

oA RIEGI

D. T

s e gga®

1. B 3R] C A&
2 A R C 3T’
3. C 3T D 3TeT
4, B 3RT A &'
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 5330728199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETATE B BRI g6 §841 Taell 71d GIH-G] 1111 HIa9 -
A SEHTE! AT

B. Tfe= TSR]

C. oIt

D. STl

T fopET g

1. A 3RT D 3HTeT

2; A 3R C 3{TeT’

3. B 3RT D 3TeT

4. B 3RT C 3T
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330728199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETd A HB R &8 §841 T1aw] 7719 o=l 111 HIowE'-

A. SEHTE] ATAR]
B. TIfeg TR

C. Wt

D. T

s e gga®

1. A 3R D 3T
2 A R C 3T’
3. B 3R D HTET
4, B 3R C 3T’
Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 5330728200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETd A HB R &8 §941 1w 1Td H -l 111 HIowE'-

A. TS TSR
B. BTZIfE TSR
C.H
D.§
s har gga®:
1. A 3R D 3T
2 B 3R] C 3T
3. A 3T C 3T
4, B 3R D A&’

Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 5330728200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETd A HB R &8 §941 1w 1Td H -l 111 HIowE'-

A. TS TSR
B. EUTSIE TSR
c.H
D.§
s e gga®
1. A 3R D 3T
2 B R C 3TV
3. A 3RT C 3Te
4, B 3R D A&l

Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 5330728201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e §AE BRI 96 gad1 T1ae] 11d HIH] 711 |15 -
A. STAFERT

B. f=1

C. T

D. STYH

s el §Taea:

1. A 3R B 3T’

2. C 3RT B 31T’

3. A 3RI C 3Ter’

4. A SRI D 3TeT’
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330728201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETATE B BRI g6 §841 Taell 71d GIH-G] 1111 HIa9 -
A. STRIERT

B. f=r

C. T

D. ST

T fopET g

1. A 3RT B 3T

2 C 3R B 37T’

3. A 3R C 3{TeT

4. A SRI D 3TeT’
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330728202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETTE AR &8 947 T1auil 118 TrATa! 1717 Tae-
A. ST TIHHEY

B. aIfaA

C. ¥R Rt A

D. 313 § @™ AHE

T fopET g

1. A 3R C 37T

2 B 3R D 3TeT
3. C 3RTD 3HTeT

4. B 3RT C 3T
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330728202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MEMATE 5 ERI §8 T84 Tasit 118 THT=a] 711 Jraw-
A. STSHT HIHY

B. &G

C. TRe e 7T

D. T3 & ™ B

T fopET g

1. A 3T C 37T

2 B 3R D e
3. C 3RTD 3HTeT

4. B 3R C 3{IeT
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330728203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MG S BRI g8 ga41 T1ael| 178 HH] 711 HITe’-
A. T SRH
B. T TT1Y1E |Ia-1- S-1g

C. TS Ta- SHH

D. AT I WA

s har gga®:

1. D 3R B 3T
2 C 3MRT A 3T’
3. B 3RT A A&
4, A IR D e’
Options :

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 5330728203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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METATd §IA BRI §9 S84 Tdel! T1d FH! 71 -
A. TTHIATT sH
B. T TT11E |1a-1- SI-1g

C. TS Ta- SHH

D. WREY JIa-TH W

T fhdr e

1. D 3R B 3T
2 C 3RTA AT’
3. B 3R A &
4, A AR D e’
Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 5330728204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETATE B BRI g6 §841 Taell 71d GIH-G] 1111 HIa9 -
A. STIRITET 3

B. feyar Rl

C. GHIHT HRE]

D. AN HIRE]

T fopET g

1. D 3R C e’

2; C 3R1 B 37T’

3. A 3R C 3{TeT

4. B 3/RT D 3HTel’
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330728204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETATE B BRI g6 §841 Taell 71d GIH-G] 1111 HIa9 -
A. STRITET e

B. feyar Rl

C. GHIHT HRE]

D. NITeT B RE]

T fopET g

1. D 3R C e’

2 C 3R B 37T’

3. A 3R C 3{TeT

4. B 3/RT D 3HTel’
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330728205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETTd B BRI S84 gawl TRIeT™] §7h%’-
A. T HOR! T

B. S HeranT

C. HEGRTH s

D. YHHR SYAART

s el §Taea:

1. B 3{RI C 3HTeT

2. A 3RI C 3Tef’

3. A 3RI D 3TeT

4. B 3RT D 3T’
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330728205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETETE B BRI a6g] aul TRISE! HHw’-
A. SU HOR] T’

B. &' HerE

C. &R &

D. YHAR SYAIRT

T fopET g

1. B 3RT C 3HTeT

2 A 3R C 3TeT’

3. A 3R D 3T

4. B 3/RT D 3HTel’
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330728206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR 8O E R 997 Fawl TR Eg’-
A. RO
B. TOHNId &

C. ARSATY §YHAIR]

D. %YM FUERT
T fopET g

1. A 3R C 37T
2; B 3T D 3HTeT
3. C 3R D 3TeT

4. A SRI B 3T’
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330728206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TEETE A H R 997 daw TR Eg’-
A. TROERE
B. TOHANId &

C. ARSTY §YHAIR]

D. 3T XM JUER]
T fopET g

1. A 3R] C 37T
2 B 3T D HTeT
3. C 3R D 3TeT

4. A SRI B 3T’
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330728207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e §E BRI gag] dasl TR eI/ Q-
A. fo3 afeiaR

B. 3l

C. 3Rfs= SfoR

D. RY AR

s el §Taea:

1. A 3R1 C 3Tef’

2. B 3R C 3TeT’

3. B 3{RT D 3TeT

4. A 3T D 3TeT’
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330728207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETETE B BRI a6g] aul TRISE! HHw’-
A. T3 eiaR

B. 3

C. 3Rfs=< SfoR

D. gRY AIR]

T fopET g

1. A 3R] C 37T

2 B 3T C TeT’

3. B 3RT D 3TeT

4. A SRI D 3TeT’
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330728208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETTd B BRI S84 gawl TRIeT™] §7h%’-

A. IROEHEE ST

B. T

C. 7§ 3fifY

D. TEA S

s har gga®:

1. A 3RT B 3
2 B 3R] C 3T
3. B 3R D HTeT
4, A R C A’
Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 5330728208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETTd B BRI S84 gawl TRIGeTH] §7h%d’-

A. TROTEHEE i

B. T

C. T8 3fifY

D. T[aTT S

T fhdr e

1. A 3RT B 3
2 B R C 3TV
3. B 3R D 3HTET
4, A R C T’
Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 5330728209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETTd B BRI S84 gawl TRIGeTH] §7h%d’-

A. TUUTITR YTl AR IERAI-1g
B. TOYTITR Y-Temg: fARTu SR SeTEid
C. e SYATR

D. SR

s har gga®:

1. A 3R C 3
2 B 3R] C 3T
3. A 3T D e
4, B 3R D A&l
Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 5330728209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETTd B BRI S84 gawl TRIGeTH] §7h%d’-

A. TUUTITR YeTg R ARG
B. TOYTITR -Temg: fIRTu SR SeEi
C. e SYATR

D. ST

s har gga®:

1. A 3R C 3
2 B R C 3TV
3. A 3T D e
4, B 3R D A&l
Options :

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 5330728210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e §E BRI gag] dasl TR eI/ Q-
A. T e

B. §¥ Y[@wW@(Y

C. AYRTH &’

D. TG0 YT 9ART

s el §Taea:

1. B 3R D 3Tt

2. A 3RI C 3Tef’

3. B 3R C Tef’

4 D 3RT A 3T’
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330728210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETETE B BRI a6g] aul TRISE! HHw’-
A. T TEEry

B. &Y’ Xraarf

C. AYRTH &’

D. G0 YHT TART

T fopET g

1. B 3RI D 3T’

2 A 3R C 3TeT’

3. B 3T C HTeT

4. D 3RT A 37T’
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330728211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TETTd B BRI S84 gawl TRIeT™] §7h%’-
A. e
B. M’

C. Glottal Stop NER g 2/

D. a@2gT 3=
s har gga®:

1. A 3R C 3
2 B 3R D 3TeT
3. A 3T D e
4, B 3R C 3Tl
Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 5330728211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETTd B BRI S84 gawl TRIGeTH] §7h%d’-
A. T3ATH

B. I’

C. Glottal Stop NER g f2/

D. V@R M=
s har gga®:

1. A 3R C 3
2 B 3R D e
3. A 3T D e
4, B 3R C 3T’
Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 5330728212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mgldid smmmmﬁ e o TRIge ] JaE’-
A. 3Ta g Gy

B. 1Y’ S WY

C. < TMiar-1d gleei-1-1g

—
s har gga®:

1. A 3RT B 3
2 B 3R D 3TeT
3. A 3T D e
4, B 3R C 3T’
Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 5330728212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Mgldid smmmmﬁ e o TRIge ] JaE’-
A. 3Ta1 g G

B. Y’ S WG

C. < TMiar-1d gleei-1-1g

_—
s har gga®:

1. A 3RT B 3
2 B 3R D e
3. A 3T D e
4, B 3R C 3T’
Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 5330728213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e §E BRI gag] dasl TR eI/ Q-
A. ETAFI

B. TR

C. AT oA

D. STRETH Wl

s el §Taea:

1. B 3R D 3Tt

2. A 3RI D 3Tel’

3. C 3RT A 3{TeT

4. B 3RT C 3T
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 5330728213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TETETE B BRI a6g] aul TRISE! HHw’-
A. @THRTY

B. T TRT

C. g giar

D. g &l

T forTET grRg

1. B 3RI D 3T’

2 A 3RT D HeT

3 C 3RTA 3T

4. B 3R C 3{IeT
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330728214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Meldid smmmmﬁ AT daod| R[] H1Hg -
A. SeIe Hell

B. TRl T

C. TIeTTg Hiel’ WATHeg g
D. TaI el

s el §Taea:

1. B 3{RI C el

2. C 3RT D 3TeT

3. D 3fRT A 3{TeT’

4. A SRI C 3Ter’
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330728214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Meldid ESHIHLFHIFH T "] TR [T HHg'-
A. Sieie Hell

B. TRl T

C. |G GIeT W’
D. T EMT

T fopET g

1. B 3RT C 3HTeT

2 C 3R D el

3. D 3RT A 3T’

4. A SRI C 3Ter’
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330728215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MR HIR-1 o BIR -1 T TR GiH’-

HIR-| IRl
A. 318 HTET HUTT ST . 1995
B. TSN &8 1l. 1982
C. l9yRTE @sH 11l 2005
D. 99TH g9 IV. 2013
T fohdT g

1. A-1V,B-1,C-1ll,D-1
2. A-1l,B-IV,C-1,D-1
3. A-IV,B-1Il,C-1l,D-1
4, A-1l, B-1,C-1l, D-1V

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 5330728215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A. 318 HTET HUTT ST . 1995
B. TTEMTH &8 1. 1982
C. l9yRTE @sH 11l 2005
D. 99TH g9 IV. 2013
T fohdT g

1. A-1V,B-1,C-1ll,D-1I
2. A-1l,B-IV,C-1,D-1
3. A-IV,B-1Il,C-1l,D-1
4, A-1l, B-1,C-1l, D-1V

Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 5330728216 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BTR-| TBI-I]
A, T A1ZaT |. §H 9% 5§
B. o 0ol I, 3F-<XTH HITGR]
C. SR 11l SIS S|
D. 3T FeT’ V. ARG STERT

BERIE RG] Rt

1. A-l, B-lll, C-Il, D-1V
2. A-lll, B-1, C-II, D-IV
3. A-ll, B-IV, C-1, D-1lI
4. A-Iv, B-llt, C-1, D-1I

Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 5330728216 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

TR IR -1l
A. T ATZal . TG 9% &
B. B I9 11, $F-<XTH HHIER]
C. SRT |11, T3 12T ST
D. I T’ V. HR=e SIER]

s el Traa:

1. A-l, B-lll, C-II, D-IV
2. A-lll, B-1, C-ll, D-IV
3. A-ll, B-IV, C-l, D-1lI
4. A-lV, B-ll, C-1, D-11

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 5330728217 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

HIR-| IRl
A, TS ST . 1972
B. & &Y’ II. 1952
C. HI=aIa ISeyTd 11l 1982
D. 1T g1 H IV. 1995

s el Jraea:

1. A-ll, B-ll, C-1V, D-I
2. A-1V, B-l, C-ll, D-11I
3. A-lll, B-IV, C-I, D-II
4. A-l, B-ll, C-llI, D-1V

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 5330728217 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A EFUTS T9oE . 1972
B. &M &%’ II. 1952
C. Al IeEyE 11l 1982
D. B g 1 IV. 1995

s el T

1. A-ll, B-ll, C-1V, D-I
2. A-1V, B-l, C-ll, D-11I
3. A-lll, B-IV, C-1, D-1I
4. A-l, B-Il, C-llI, D-1V

Options :

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 5330728218 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BTR-| TBI-I]
A. TR R |. TIERER ol
B. GHHIAM o 1. SRR SYAART
C. 3q Hia IECEERER
D. fiy V. S AR 5
s o=l g

1. A-1V, B-lll, C-ll, D-I
2. A-lll, B-l, C-IV, D-II
3. A-ll, B-lIl, C-1, D-IV
4. A-lll, B-1V, C-ll, D-|

Options :

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 5330728218 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

TTR-| TTR-I]
A. T R |. TGRSR
B. GHRTAl o 11 SR= R SgAaR]
C. ag Mg IECEERER
D. fay V. Wi+eT HHR 576
CREE IO CE

1. A-1V, B-llI, C-ll, D-I
2. A-lll, B-1, C-1V, D-I
3. A-ll, B-lll, C-I, D-IV
4. A-lll, B-IV, C-ll, D-I

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 5330728219 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BRI TR
A3 HE . T faig
B. X9 19 I, TR faig
C. Y RT7) HTd 1. % fod
D. YT HTE V. YT faq
s fohaT g

1. A-ll, B-l, C-1V, D-II
2. A-IV, B-lI, C-1, D-1I
3. A-l, B-IV, C-llI, D-II
4. A-ll, B-l, C-lII, D-IV

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 5330728219 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A HTE . T fag
REEE 1. TR 8
C. Y RT7) HTd 1. 3% f5e
D. YT HTG V. YT fag
T fohdT g

1. A-ll, B-l, C-1V, D-11
2. A-1V, B-ll, C-l, D-11I
3. A-l, B-IV, C-lll, D-1I
4. A-11, B-l, C-llI, D-1V

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 5330728220 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BRI TR
A ST |. SETEIR STEI G
B. 3R'ST RYTS || GETHTH U
C. IH, YTdl- 3R AU |1l PRETTY SN TTZ
D. YTHIR MY V. BT W
s fohaT g

1. A-ll, B-l, C-1V, D-II
2. A-lll, B-l, C-IV, D-II
3. A-IV, B-II, C-II, D-I
4. A-l, B-IV, C-lI, D-I11

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 5330728220 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A SEE . STETR STETH WU
B. 3R’ AYUTS |1 T HT YTa4]
C. 9H, YTdl- 3R AT |11, PRI SN TTg
D. YTETR &Y V. YFETEYTTH W
T fohdT g

1. A-ll, B-l, C-1V, D-l1
2. A-lll, B-1, C-1V, D-I
3. A-1v, B-ll, C-llI, D-1
4. A-l, B-IV, C-ll, D-111

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 5330728221 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BRI TR
A. TR Ry |. ST &
B. T oI oI g’ 1. SWIR YR TEHER]
c. fefoar 1. e 95 §¢
D. faaf ARy V. fofel] SR
s fohaT g

1. A-ll, B-1V, C-1, D-I1l
2. A-IV, B-lll, C-II, D-I
3. A-ll, B-l, C-IV, D-1lI
4. A-lll, B-l, C-1V, D-II

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 5330728221 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A TR Rye |. ST &
B. 7 1o foraATH g’ 1. SWIR YR SEHAER]
c. fefomr 1. S 95 a3
D. fon™ ARl V. el SHRT
T fohdT g

1. A-l1, B-IV, C-I, D-IlI
2. A-lv, B-lll, C-1l, D-I
3. A-ll, B-l, C-IV, D-lI
4. A-ll1, B-l, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330728222 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

HTR-|

WHIR-1I

A AT

|. b I SYAAR]

B. TTH Y@@ T

Il HYTH s’

C. ol T

111 515 BAR SYATR]

D. S Y@ Ay

IV. HH HHN el

s el Jraea:

1. A-l, B-ll, CH

V, D-111

2. A-lll, B-1V, C-II, D-I

3. A-lll, B-ll, C
4. A-ll, B, C

Options :
1.1
2.2
3.3
4.4

-V, D-I
1, DIV

Question Number : 133 Question Id : 5330728222 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

TTR-| TTR-I]
A IESEE |. P I SYAAR]
B. T TG 1Y 1. TERTH &
C. TSl TG 111, Yo% BAR SYATR]
D. SR’ T@H gy V. HS DHR G
CREE IO CE

1. A-l, B-ll, C-1V, D-l1
2. A-lll, B-IV, C-lI, D-I
3. A-lll, B-Il, C-1V, D-I
4. A-11, B-Ill, C-1, D-IV

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 5330728223 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BRI TR
A [T/ | TR
B. /&/ Il YTeT 34
C. /A/ 1. USSR
D. /3/ V. ERTES
s fohaT g

1. A-ll, B-1V, C-1, DIl
2. A-l, B-lll, C-I1, D-IV
3. A-lll, B-IV, C-I, D-Il
4. A-ll, B-l, C-lII, D-IV

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 5330728223 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A [T/ | TR
B./a/ 11 YTeTl 34
C. /A/ |11 YT ST
D. /3/ V. ETE
T fohdT g

1. A-ll, B-1V, C-1, D-111
2. A-l, B-llI, C-lI, D-IV
3. A-lll, B-IV, C-1, D-1I
4. A-11, B-l, C-llI, D-1V

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 5330728224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BRI TR
A. g8 . TR
B. fH&Te . &}
C. [9eR |Il. hhaX'sh
D. W&l VAECIE

BERIE RG] Rt

1. A-l, B-lll, C-Il, D-1V
2. A-IV, B-lll, C-II, D-I
3. A-IV, B-l, C-I1, D-11I
4. A-lll, B-l, C-II, D-IV

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 5330728224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A §8R . TR
B. [§&Td 1. &R
C. [9eR |Il. hhaX'sh
D. &l V. femmm
T fohdT g

1. A-l, B-lll, C-II, D-IV
2. A-1V, B-lll, C-11, D-I
3. A-1V, B-l, C-ll, D-11I
4. A-lll, B-l, C-lI, D-1V

Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 5330728225 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

HIR-| IRl
A ERMH (@12 H) .o
B. MR ([{THR) \I. ] TRATD
C.gaH 1. T I
D. AR SRATRA™ IV. €T Ta-1g

s el Jraea:

1. A-l, B-ll, C-llI, D-IV
2. A-lll, B-IV, C-1, D-1I
3. A-ll, B-l, C-IV, D-1lI
4. A-1V, B-lll, C-Il, D-|

Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 5330728225 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A ERMA @1i2H) RS
B. WHR ({THR) 1. HH=] TRATY
C.2 g 1. & g
D. AR SRATRA™ V. €1 Ta-1g

s el T

1. A-l, B-ll, C-llI, D-IV
2. A-lll, B-IV, C-1, D-1I
3. A-ll, B-I, C-1V, D-1lI
4. A-1V, B-lll, C-1, D-I

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 5330728226 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BRI TR
A. §EIT] . 413
B. &’ \I. e
C. 3l 1. T T AYTS
D. TT& V. g1
s fohaT g

1. A-l, B-Il, C-lll, D-1V
2. A-ll, B-Ill, C-IV, D-I
3. A-IV, B-l, C-I1, D-1lI
4. A-lll, B-l, C-1V, D-II

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 5330728226 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| IRl
A. 3977 | 7S
B. T 11, AT
C. 2l 1. T JTAE AT
D. 1A V. g1
T fohdT g

1. A-l, B-ll, C-llI, D-IV
2. A-ll, B-Ill, C-IV, D-I
3. A-1V, B-l, C-ll, D-11I
4. A-lll, B-l, C-IV, D-ll

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 5330728227 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

HIR-| IRl
A. BH® | PRICHRAE AUTS
B. SIHX |1 AR RE BuTg
C. UHaH I, SaRBRMH Byrs
D. EX1Z TSTieT T V. IHTH R AYUTS
s fohaT g

1. A-l1, B-1lI, C-1, D-IV
2. A-1V, B-l, C-ll, D-11I
3. A-l, B-IV, C-lII, D-II
4. A-lll, B-ll, C-1V, D-|

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 5330728227 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

BHIR-| IR
A BHTE |. FRITHRA AUTS
B. BT 1. ARHRE dyg
C. UHaH Il SaRBRMH ByTS
D. 513 XS TicT M V. IHTH R AUTS

s el T

1. A-l1, B-llI, C-I, D-IV
2. A-1V, B-l, C-ll, D-11I
3. A-l, B-IV, C-lll, D-1I
4. A-lll, B-ll, C-1V, D-

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 5330728228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BTR-| TBI-I]
A. T . FjgTe 453 o9
B. 33 9IGE Y |1, RraTl feerz e ™
C. YgeTa1 4 T I1l. T [§eg S
D. I 9 V. YN fSeEl fds g™

BERIE RG] Rt

1. A-lll, B-ll, C-1V, D-I
2. A-l, B-lll, C-I1, D-IV
3. A-ll, B-IV, C-1, D-1lI
4. A-Iv, B-lll, C-ll, D-|

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 5330728228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

HTR-| HIR-II
A R |. RO 453 w9
B. 3¢ 9rasy 1. sl Wems 8 g
C. YeeTsT 4 T I, GO [Werg S
D. &I &g V. YEAN [SeEH i g™
T fohdT g

1. A-lll, B-ll, C-1V, D-I
2. A-l, B-llI, C-lI, D-IV
3. A-ll, B-IV, C-l, D-1lI
4. A-1V, B-lll, C-1, D-I

Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 5330728229 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MR BIR-1 o BIR-1 W RS 9iHa’-

BTR-| THI-I]
A. SRETZ |. 3 T |Ter!
B. TohyT O 1. T g
C. WTIg 1. "Gy g
D. 3 e EEIER
s o=l g

1. A-l, B-ll, C-lll, D-1V
2. A-lll, B-1, C-II, D-IV
3. A-IV, B-lIl, C-II, D-I
4. A-ll, B-IV, C-I, D-I11

Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 5330728229 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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MR HIR-1 o BIR-I WY TR T ig’-

TTR-| THTR-I]
A. SRATS |. 3 = 1ol
B. TChyT |1 1. T G
C. Wiy 1. Ry g
D. g4 EEEEEIEL

s el Traa:

1. A-l, B-Il, C-llI, D-1V
2. A-lll, B-1, C-II, D-IV
3. A-IlV, B-lll, C-lI, D-I
4. A-ll, B-IV, C-l, D-Il]

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 2

Sub-Section Id : 533072324
Question Shuffling Allowed : No

Question Id : 5330728230 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

TETE B T ] B 3R] 99 918 b 8

STRRATE T 3T FH1 831 187 SRl WielH) 4 H/EmE M) Aafyl E”-IC'cI'I T -SHHAT,
S-S, HTR-@, YR U, SH--aA, G- -HEEE, SRIae] g SeEmE ggy
T | STATT SYT-Res R #Tg AT G T, 20 A A gRa | @, W, R
TRAM &%, GH-UEaM, TeR-gea] i IHER gINEN g9e9- aEd| § AusH gar
Peculiarity @1 FaRA TEH SERANT HHGIH @EHIE | d6 &3 NG ¥HF 4" 9811 91 @IURE)
T HORR GAN % Gpior 4 FeEE fRAR Y& 9ffar v a1y ga- Al e ReRE s dsa
CRAABRIA ToRTE TEA STA™ gINGE! idF™ SRgd SiE/ | QR a 76l @ gIRe e
TEHE! TaeieE] ATaEeET g4 gIRMA STREE! ielis!| SRaamRM § 3R Wiy - R 1§
SRR MR FIRTE ! TE R gH1 AR | saie MORA fg e 7 SHF dré-) TS|

RIS Go7d S7 TGaTE Sl IEHTY o NIRRT a8 G S8 ST S S e
U TS ST e gern S¥El Moy § HEdRE) e] M|  reiEE sYA 18 ORm ) 9 Ok
TeTE 8= A1 a3 SR SRaaig! | (YAeTs SR YAe)

Sub questions

Question Number : 141 Question Id : 5330728231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R A gIRM gl diei=1 gqa-
1. SEHMAT
2. HEHIR

3
4. THRS

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5330728232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& el fSeat g7 Al
1.5 FERT Tl

2. SRy o wifed

3. W Wi

A, S HBRR AT TS Y&hid

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 5330728233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CRETHR SRIal AEIGY Tordl-
1. SIGEATSTE

2. TEAE] %™ e
3. Sl ST

4. HIETE mleﬁlq-C&'ﬂH
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5330728234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TER HieTgTse Ml & gTREar M1 AR

1. TEA-RE ST SoaI e

PRI IRIE RN CISIEIES]

3. [9E IR

4. T o410 HIellSTseT]
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330728235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST &8 ST Hlglg R 14HS -
1. TS

2. 9141 3T
3. T[S
A, 7T Mg aHTaTd

Options :
1.1
2.2
3.3
4.4

Question Id : 5330728230 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

TETE B T ] B 3R] 99 918 b 8

STRRATE T &1 FH1 831 187 SRl WielH) 4 H/EmE M) Aoyl E”-IC'cI'I T -SHHAT,
S-S, HTR-@, YR B, SR, G- -HEEE, SRIae] g1 SeEmE ggy
E | awgmd Y T- R RT TTg GoAT- W1 M1, 20 Sl ANl gaaT | @y, SR, R
TRAM §, SH-UeM, TeR-dedl aEAH HER SRS S9E-- aer | §v ByeH SE@
Peculiarity @1 FaRA TEH SERANT HHGIH @EHIE | d6 &3 NG ¥HF 4" 9811 91 @IURE)
T HORR GAN % Gpior T4 TTEE fRMR Y& Frffar v w1 gai- Al e ReRE e dsa
CIEaEB R TORTd TEA SHHE §ING! S HRgal S | [&€R ah 1iel A gIRY, S

TEHE! TaeieE] ATaEeET g4 gIRMA STREE! ielis!| SRaamRM § 3R Wiy - R 1§
EIRRT MEERM FIRYE] TR g1 AR S9131 "ERE 5331 7 SHH ari-! eS|

RIS TG ST [GETE S I § HRRT a9 GHHE 941 g7 SRE1 SR AT g
T GHEE S R gam shdl T § gHEYRE e ey | SEEE E R ORE | 9 ORI
TeTE 8= A1 a3 SR SRaaig! | (YAeTs SR YAe)

Sub questions
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Question Number : 141 Question Id : 5330728231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR T SR ! diel=1 g9a!-
1. SFEHIT
2. BN

3
4, MRS

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5330728232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y Ao+ S g7 q1-
1. s PSR T

2. 3HHGT o Wi

3. &

4. R HERR YA TS L

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 5330728233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CRETHRI SRIAT HITEd Tl-
1. SEEETEA™

2. TEAFE! FE™ e

3. S AT

4. AT 3R] SHA-g

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5330728234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TER HieTgTse Ml & gTREar M1 AR

1. TEA-RE ST SoaI e

PRI IRIE RN CISIEIES]

3. [9E IR

4. T o410 HIellSTseT]
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330728235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST &8 ST Hlglg R 14HS -
1. TS

2. 9141 3T
3. T[S
A, 7T Mg aHTaTd

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 533072325
Question Shuffling Allowed : No

Question Id : 5330728236 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

METI T W</ TR 3R] G 91138 O &

TRIRASTT YTREISHEA] &Y YAced], SHE Sl YA SR S69 Tad ]| @1, IGTS,
ET, G HIGT YAelgH art S1d TFclal A1 IR SR HRTG aesthetic appeal & A1 147 @1 AfoRTH
AT T AR 95 SgAARAT araE Sieiend SR1 I agdl BIauigwd dramatic art &1 ATER
ARG S WoRA 889 §H1 THT| 8 BIaUTsH SHHAMNR GREY SgAaRT dramatic genius @
THE! SRaA ST §F/E SR | STeleR s (MfE) M uii@ar gi-ta-yH[ers- g B reE-agaE| §
A YARMRNGRI § FEFEH AapaiEF | S9F JeeRd s/ o4 sieadq | [y gHe, seEr],
ATe, M Hifsrs, gron 9Efe 9afe TUE IRMAT SRY SERRE A Iy R 999 e 9aRe |
F@'WAE Joseph Adison 3 R I9R & HHRRY MEd MM X IeTHI IFEFRET WX TE-ela !,
T USRS ‘SMERT S & &' e foundation BTal| S BIRMHY FUMGHE! ful TGHT
TUEARAT Pasthumous ST TFI WITRE | WHE T Si6T: S{OER HIMH &¢ ¥1G S(RT YAeng Riege,
ST IRHE ReE ¥ 8919 R | TR GURAE [SyTST dEeHel- classicism, mysticism 3T
revolutionism | (& &¥’)
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Sub questions

Question Number : 146 Question Id : 5330728237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R Ya-YAe2-ETR-BINE B RIEAE A SR oAeTg GRIEHH-
1. HEART RRAR®RT

i [ | . Y

2. B aR §g oqdlq dHI- %_{;ﬂﬂl‘.‘—.»lrrll LRI

3. TG TS YT FIRER]

4. TTecd CANIEES sigld]

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 5330728238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R & O B g S ol

1. UHS T2 5§
2§ 9 SgATR]

3. SR Y SYATRY
A T qBTER]

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330728239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Joseph Adison 3 ZXTs! &1 HTATE HT SREe GRS Ger 1A WEERE] T THeeE Hi-
1. ¥R IOIR 18 HURRT

2.2 MHR h'T
3. TFE TN
4. I HRFA

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5330728240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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W' YAeTg IRIoRA1 AT SR 97 g1 g9 9l-
1. dram atic art 3IR1 classicism oRATE

2. TTeH T IR YereE!

3. Wy G, S e forAaa)

4. TEFIBTER] SR WG 75 S R

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5330728241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR YRS TaHT @RTEATR R a1 A14He] Posthum ous ST STSTEH] ERIRE-

1. 0GR YBTER]
2. S ABTER]
3. YHG 9% sT§d
4. HR= dERT

Options :
1.1
2.2
3.3
4.4

Question Id : 5330728236 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

TETEH T W</ TR 3R] G 9138 o5 &

TERESTE YRASHEA] S YFagal, SafE S YAl WRAH S8 Tl @, g9,
ET, G HIRT YAelgH art S1d Teial A1 MEIRE SR §HRTd aesthetic appeal & A1 147 @1 WRRTA
AT AT AR 9% SgAARAT araE wigiend SR1 I aehdl BIauigwid dramatic art @1 ATER
SREEIG! S (SR &89 g1 THT| 8 WBIaUTgl SHHMR GRS SgAaRT- dramatic genius @
THE! SRaA ST §FE SR | STeleR s (MfE) M uiiEar gi-ta-yH[ers- g B reE-agaE| §
A YARARERT & [Sa-RaH TapaAE| euH GaeRa sF o4 SiegdaF | [fyi T, ser,
A, TR Bifwre, gTe s 9fe @ IR RT SreRiE 9 I [SRE 999 g9 9 IR |
T@'WTHIG Joseph Adison ST R IR & FURRY SMET aFM X YA GFHRE o) TaadE!,
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